In a normal distribution 31% of the items are under 45 and 8% are over 64. Find the mean and standard
deviation of the distribution

Solution
0.42
0.31 0.19 e
X=45 0 X =64
X-X
7 =
a

Value of Z, corresponding to 0.50 — 0.31 = 0.19 area, is equal to - 0.5 (from table).

X
-05 = - ~050=45~-X - X - 0.50 = 45

Value of Z, corresponding to 0.5 — 0.08 = 0.42 area, is equal to +1.41 (from table).

64 — X X

141 = 51410 =64-X 2> X + 1410 = 64

Solving the system of equations

X -050=45

¥+ 1410 = 64 = —=1910 = =19 = ¢ = 10 approx.

Substituting the value of o in the first equation
X-05-10=45-X=50

Answer: X =50, o = 10.



